

Market Value Summary:

	Current Period	Year to Date
Beginning Balance	\$12,617,965.80	\$12,002,761.93
Contributions	\$0.00	(\$31.55)
Withdrawals	(\$1.13)	(\$1.13)
Transfers In/Out	\$0.00	\$0.00
Income	\$9,477.58	\$33,878.39
Administrative Expense	(\$172.51)	(\$998.03)
Investment Expense	(\$275.95)	(\$2,661.64)
Investment Manager Fees	(\$14.33)	(\$455.04)
IFA Loan Repayment	\$0.00	(\$9,462.52)
Adjustment	(\$492.57)	(\$492.57)
Realized Gain/Loss	\$29.76	\$4,685.09
Unrealized Gain/Loss	(\$177,610.22)	\$421,683.50
Ending Balance	\$12,448,906.43	\$12,448,906.43

Performance Summary:

	MTD	QTD	YTD	One Year	Three Years	Five Years	Ten Years	Inception to Date	Participant Inception Date
Net of Fees:	(1.33%)	(0.45%)	3.83%	N/A	N/A	N/A	N/A	3.61%	09/07/2022

JUSTICE POLICE PENSIONFund Name:JUSTICE POLICE PENSIONMonth Ended: May 31, 2023



Market Value Summary:

	Current Period	Year to Date
Beginning Balance	\$0.00	\$0.00
Contributions	\$0.00	(\$31.55)
Withdrawals	(\$1.13)	(\$1.13)
Transfers In/Out	\$1.13	\$32.67
Income	\$0.00	\$0.01
Administrative Expense	\$0.00	\$0.00
Investment Expense	\$0.00	\$0.00
Investment Manager Fees	\$0.00	\$0.00
IFA Loan Repayment	\$0.00	\$0.00
Adjustment	\$0.00	\$0.00
Realized Gain/Loss	\$0.00	\$0.00
Unrealized Gain/Loss	\$0.00	\$0.00
Ending Balance	\$0.00	\$0.00

Unit Value Summary:

	Current Period	Year to Date
Beginning Units	0.000	0.001
Unit Purchases from Additions	0.113	0.113
Unit Sales from Withdrawals	(0.113)	(0.114)
Ending Units	0.000	0.000
Period Beginning Net Asset Value per Unit Period Ending Net Asset Value per Unit	\$0.00000	\$9.500000 \$0.000000

Performance Summary:

JUSTICE POLICE PENSION

	MTD	QTD	YTD	One Year	Three Years	Five Years	Ten Years	Inception to Date	Participant Inception Date
Net of Fees:	0.00%	0.00%	0.00%	0.00%	0.00%	0.00%	0.00%	0.00%	09/07/2022

JUSTICE POLICE PENSIONFund Name:Transition PoolMonth Ended: May 31, 2023



Market Value Summary:

	Current Period	Year to Date
Beginning Balance	\$357.29	\$20,784.23
Contributions	\$0.00	\$0.00
Withdrawals	\$0.00	\$0.00
Transfers In/Out	(\$351.22)	(\$21,645.97)
Income	\$1.41	\$26.29
Administrative Expense	\$0.00	\$0.00
Investment Expense	\$0.00	\$0.00
Investment Manager Fees	\$0.00	\$0.00
IFA Loan Repayment	\$0.00	\$0.00
Adjustment	\$0.00	\$0.00
Realized Gain/Loss	(\$7.15)	\$669.71
Unrealized Gain/Loss	(\$0.33)	\$165.74
Ending Balance	\$0.00	\$0.00

Unit Value Summary:

	Current Period	Year to Date
Beginning Units	39.376	2,380.396
Unit Purchases from Additions	0.127	3.662
Unit Sales from Withdrawals	(39.503)	(2,384.058)
Ending Units	0.000	0.000
Period Beginning Net Asset Value per Unit Period Ending Net Asset Value per Unit	\$9.073836 \$0.000000	\$8.731284 \$0.000000

Performance Summary:

JUSTICE POLICE PENSION

	MTD	QTD	YTD	One Year	Three Years	Five Years	Ten Years	Inception to Date	Participant Inception Date
Net of Fees:	0.00%	0.00%	0.00%	0.00%	0.00%	0.00%	0.00%	0.00%	09/28/2022



Market Value Summary:

	Current Period	Year to Date
Beginning Balance	\$12,617,608.51	\$11,981,977.70
Contributions	\$0.00	\$0.00
Withdrawals	\$0.00	\$0.00
Transfers In/Out	\$350.09	\$21,613.30
Income	\$9,476.17	\$33,852.09
Administrative Expense	(\$172.51)	(\$998.03)
Investment Expense	(\$275.95)	(\$2,661.64)
Investment Manager Fees	(\$14.33)	(\$455.04)
IFA Loan Repayment	\$0.00	(\$9,462.52)
Adjustment	(\$492.57)	(\$492.57)
Realized Gain/Loss	\$36.91	\$4,015.38
Unrealized Gain/Loss	(\$177,609.89)	\$421,517.76
Ending Balance	\$12,448,906.43	\$12,448,906.43

Unit Value Summary:

	Current Period	Year to Date
Beginning Units	1,265,547.719	1,263,406.486
Unit Purchases from Additions	35.763	2,180.227
Unit Sales from Withdrawals	(49.520)	(52.751)
Ending Units	1,265,533.961	1,265,533.961
Period Beginning Net Asset Value per Unit Period Ending Net Asset Value per Unit	\$9.970077 \$9.836881	\$9.483855 \$9.836881

Performance Summary:

JUSTICE POLICE PENSION

	MTD	QTD	YTD	One Year	Three Years	Five Years	Ten Years	Inception to Date	Participant Inception Date
Net of Fees:	(1.33%)	(0.45%)	3.83%	N/A	N/A	N/A	N/A	9.75%	10/21/2022

Statement of Transaction Detail for the Month Ending 05/31/2023

JUSTICE POLICE PENSION

Trade Date	Settle Date	Description	Amount	Unit Value	Units
JUSTICE POLICE PE	NSION				
05/25/2023	05/26/2023	Transfers In	1.13	10.000000	0.1130
05/25/2023	05/26/2023	Redemptions	(1.13)	10.000000	(0.1130)
Transition Pool					
05/25/2023	05/26/2023	Transfers In	1.13	8.919671	0.1267
05/25/2023	05/26/2023	Transfers Out	(1.13)	8.919671	(0.1267)
05/25/2023	05/26/2023	Transfers Out	(351.22)	8.919671	(39.3762)
IPOPIF Pool					
05/01/2023	05/01/2023	Emerging Market Debt Adjustment	(492.57)	9.970084	(49.4048)
05/25/2023	05/26/2023	Transfers In	351.22	9.820810	35.7628
05/25/2023	05/26/2023	Transfers Out	(1.13)	9.820810	(0.1151)